THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

260 | S012480/00 | SCREW M8X12 HH FT DIN 933 ISO 4017 8.8 - 2
250 | P5000224/00 | STICKER GS43 JVK: GS43KMGS43 | 1
240 | P5000115/00 | STICKER JERNEVIKEN JVK: GSKMJV 1
230 | A5000222/01 | COVER EXTENSION SAW BLADE JVK: GS43KSN 1
220 | P5000101/00 | WRENCH METRIC 36 COMBINATION JVK: GSBN36 1
210 | P5000189/00 | WRENCH METRIC 32MM JVK: GS34-43BN32 | 1
200 |1 S103990/00 | DIN_7091,10,8.8 Plain Washer, DIN 125 (ISO 7091-2000),10,8.8 | NX Standard Part 2
190 | S5500040/00 | STAR KNOB D60 M10X25 JVK: GSHTASVM10 | 2
180 1 S104846/00 |DIN_127 B 10,8.8 Spring Lock Washers, Form B DIN_127,10,8.8 NX Standard Part 2
170 | S106508/00 |DIN 934,M24x2,8.8 Hexagon Nut, DIN 934 1987,M24x2,8.8 NX Standard Part 1
160 | P5000140/00 | NUT M24X2 LEFT HAND THREAD JVK: GSM24X2-V 1
150 | P5000220/00 | FASTENER SAW BLADE OUTSIDE JVK: GS43KFY 2
140 | P5000221/00 | FASTENER SAW BLADE INSIDE JVK: GS43KFI 2
130 | A5000211/06 | CHASSIS GS43 - 1
60 | P5000061/00 | HOLDER CORD JVK: GSHEL 1
30 |P5000207/00 | COVER BLADE AXLE JVK: GS43SKF 1
20 |P5000219/00 | HANDLE GS-43 JVK: GSHTA 1
10 JA5000223/02 | COVER SAW BLADE JVK: GS43KSY 1
NO. TITLE NAME DESCRIPTION NOTES %T

ART.NR. REV. PROJECTIQN MAERIAL

Fanes Lt o ERNEVIKEN
Jerneviken - GS43 Floor saw

NOTES: - DESIGNER PALLAG DESIGN | PROJECT

1 | Revised A5000211. 24.11.2022. pd3 DATE P2115 - Jerneviken - Floor saw

2 Revised A5000223. 02.12.2022. pd3 LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.

3 |Revised AS000211. 18.12.2022. pd4 DATE 22-Jan2023_|FR %NE[EERNGEstM&ngITs%;(?EEFmgﬁiggif@igmm

STATUS PB3Released |ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET1/7 SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

O

pil) L

ARTNR. REV. PROJECTIQN |MATERIAL
TITLE " |FINISH JERHEVIKEH
Jerneviken - GS43 Floor saw
NOTES: - DESIGNER  |PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE 1SO 2768-MK,
DATE 22-4an2023 | k6 WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released | ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET2/7 |SCALE1:1 [sizE:A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

ARTNR. REV. PROJECTIQN |MATERIAL
TITLE " |FINISH dERHEVIKEH
Jerneviken - GS43 Floor saw
NOTES: - DESIGNER  |PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE 1SO 2768-MK,
DATE 22-4an2023 | k6 WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released | ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET3/7 |SCALE1:1 [sizE:A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

ARTNR. REV. PROJECTIQN |MATERIAL
TITLE " |FINISH dERHEVIKEH
Jerneviken - GS43 Floor saw
NOTES: - DESIGNER  |PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE 1SO 2768-MK,
DATE 22-4an2023 | k6 WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released | ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET5/7 |SCALE1:1 [sizE:A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

ART.NR.

REV.

PROJECTIQN

MATERIAL

TITLE " |FINISH dEHHEVIKEH
Jerneviken - GS43 Floor saw
NOTES: - DESIGNER  |PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE 1SO 2768-MK,
DATE 22-4an2023 | k6 WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released | ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET6/7 |SCALE1:1 [SIzE:A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

GS43

2
™
™
62
ARTNR. REV. PROJECTIQN |MATERIAL
TITLE " |FINISH JERHEVIKEH
Jerneviken - GS43 Floor saw
NOTES: - DESIGNER  |PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE 1SO 2768-MK,
DATE 22-4an2023 | k6 WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released | ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET7/7 |SCALE1:1 [sizE:A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

ARTNR. REV. PROJECTIQN |MATERIAL
TITLE " |FINISH dERHEVIKEH
Jerneviken - GS43 Floor saw
NOTES: - DESIGNER  |PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE 1SO 2768-MK,
DATE 22-4an2023 | k6 WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released | ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET4/7 |SCALE1:1 [sizE:A3




100} R5500042/00 | HANDLE CILINDRICAL JVK: GSHTAV 1
90 | P5000162/01 | SCREW LEAD TRAPEZOIDAL JVK: GSTSV30X6 ]| 1
Hexagon Socket Set Screw, Cone Point,
80 ] S114936/00 |DIN_4027,B,M8x10,12.9 DIN 914 (ISO 4027-2003(E)),M8x10,12.9 NX Standard Part 1
Hexagon Head Screw, Grades A and B, DIN
70 | S111702/00 |DIN_4017,B,M12x25,12.9 EN 24017 (ISO 4017-1999).M12x25.12.9 NX Standard Part 1
Plain Washer, Normal Series, DIN EN ISO
60 ] S104112/00 |I1SO _7089,12,12.9 7089-2000,12,12.9 NX Standard Part 1
50 | P5000129/01 ] CRANK HANDLE JVK: GSVEVK 1
10 | S5500031/00 | BEARING SKF FY 25 TF JVK: GSFY25TF 1
NO. TITLE NAME DESCRIPTION NOTES QTY
1
APPLY THREAD GLUE .
Loctite 243 = APPLY THREAD GLUE
Loctite 243

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION OF JERNEVIKEN MASKIN AB IS PROHIBITED.

APPLY THREAD GLUE

Loctite 243

ARTAR. REV. PROJECTION | MATERIAL
TITLE " |FINISH dERHEWKEH
NOTES: JVK: GSVEVMTSL DESIGNER  |PALLAG DESIGN | PROJECT
1 | Revised: P5000162, Replace: 111702, 104112 22.01.2023. pd4 DATE P2115 - Jerneviken - Floor saw
2 |Revised: P5000129 31.01.2023 pd3 LAST CHANGE [PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE IS0 2768-MK,
DATE 02-Feb-2023 | £oR WELDING SS-EN IO 13320-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET1/1 |[SCALE1:1 |SIZE:297.0 x 210.0




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

520 | P5000313/00 | STICKER LIFTING POINT : 7
510 |S012467/00 | OIL NIPPLE M6x1 STRAIGHT - 7
500 | S5500049/00 | SPRING EXTENSION VK. GSFJ-247-5 2
490 | R5500070/02 |SET ELECTRIC COMPONENTS GS43 : 7
480 |S012477/00 | SCREW 5x50-HS PH CBS - 2
470 | P5000191/00 | DOUBLING ELECTRIC BOX JVK: GSS33T4 4
460 | P5000112/00 | PLATE PRODUCT DATA VK- LBTS 7
450 | S5500024/00 |RIVET 2X5 HD - AN 00863-02-005 JVK: DN2X5FTS 2
440 | P5000190/00 | PLATE DOUBLING VK. GSGP25X12X150 ] 2
430 ]S106885/00 |DIN 982 ,M6,8.8 Prevailing Torque Type Hexagon Nut, DIN 982-1987,M6,8.8 NX Standard Part 2
420 |s11171400 | DIN 4017,8 M12x40,12.0 |  Hexagon Head Szrg;"’f_%gg‘;m;;fo%%“ EN 24017 (SO I\ Standard Part 4
410 |s111704/00 | DIN_4017,8,M12x30,8.8 Hexagon Head SC;%‘;"%%J‘;;?@{‘;’;‘;&%N EN 24017 (IS0 I\x standard Part
2400 | S103848/00 | DIN 7349.12.12.9 Washer, DIN 7349-1974,12.12.9 NX Standard Part 8
390 |5104110/00 |1SO 7089,12,8.8 Plain Washer, Normal Series, DIN EN SO 7089-2000,12,8.8 _ |NX Standard Part 2
380 | S103990/00 |DIN 7091,10,8.8 Plain Washer, DIN 125 (ISO 7091-2000).10.8.8 NX Standard Part
370 |s112750/00 | DIN_7984,M5x0_8x16,8.8 Hexagon S°°k;;8'jl‘f;‘gog‘f&;°ge;( \{\g}g_;ow Head, DIN NX Standard Part 4
360 |S106985/00 |DIN 7042,AM5,8.8 Prevailing Torq‘;%mg;a('lggxfgf;_ 1’“9‘3’7;’,\’,\'/}2,:’23““ Face, DIN I\ standard Part 4
350 | S104094/00 ISO _7089,5,8.8 Plain Washer, Normal Series, DIN EN ISO 7089-2000,5,8.8 NX Standard Part 8
340 |5106913/00 |DIN 982,M12.8.8 Prevailing Torque Type Hexagon Nut, DIN 982-1987.M12.8.8 | NX Standard Part 13
330 |S111654/00 |DIN 4017,8,M10x30,12.9 |  Hexagon Head S‘j‘rgﬂ_%gg;f\ﬂ‘ggﬁg“ EN24017(SO I\ Standard Part 4
320 |S118917/00 | BOLT M12X50-HH PT-DIN 931-1S0 4014 8.8 BN 57 5
310 | S106901/00 DIN_982,M10,8.8 Prevailing Torque Type Hexagon Nut, DIN 982-1987,M10,8.8 NX Standard Part 4
300 |S113667/00 |DIN_7380,M6x10,10.9 Hexagon SOC';gtgg_“zté%l"l‘\'Ae;ﬂ g,ﬁr(‘;"s‘)" DINENISO NX Standard Part 2
290 |S104100/00 |1SO_7089.6,12.9 Plain Washer, Normal Series, DIN EN SO 7089-2000,6,12.9 _ |NX Standard Part 2
280 |s111598/00 |DIN 4017,8,M8x20,12.9 Hexagon Head SCZ%%_(??;S;?@;%E,ZSIN EN 24017 (SO I\x Standard Part 6
270 |s103443/00 | D-EN-PIN7093-1M8.1 Plain Washer, Large, DIN EN ISO 7093-1-2000,M8,12.9 NX Standard Part 5
260 | S5500043/00 | WASHER NILOS RING 6204AV JVK: GS34SPA950 2
250 | S5500056/00 | BELT GATES XP A1120 JVK: GSA3SPA1120 4
240 | P5000188/00 | SUSPENSION REAR WHEEL JVK. GSHA 1
230 | P5000184/00 | ADAPTER HANDWHEEL JVK: GSHT30X6 1
220 | P5000212/00 | SUSPENSION FRONT WHEEL JVK: GS43UPL 7
210 | S5500039/00 | TOGGLE CLAMP SB 120-AS JVK: EWBPG-10-G-3 | 1
790 ]55500055/00 | PULLEY SPA 1324 JVK: GS43SPA132-4 | 1
180 | S5500054/00 | TAPERED BUSH DESCH 2517-35 JVK: GS43B35/1324 | 1
770 | P5000175/00 J AXLE SAW BLADE JVK: GSKAG60 7
760 15012388/00 | DIN 6885 A PARALLEL KEY, DIN 6885 A, 8X7X40 - 1
150 | S012466/00 | PARALLEL KEY Bx7x18 CALK PLAIN : 2
140 | Ab000106/02 | SET VALVE COOLING JVK: GSHVKK 1
130 | S5500033/00 | BEARING SKF SY 35 TF JVK. GSSY35TF 2
120 | S5500003/00 | BEARING SKF SY 30 TF JVK: GSSY30TF 2
110 | S5500032/00 | WHEEL ALEV 250-20K JVK: GSALEV25020K | 2
100 | S5500004/00 | WHEEL D160 JVK: GSALEV16020K | 2
90 | A5000234/02 |SET ELECTRIC MOTOR GS43 JVK: GSA3ELMITKW |1
70 |P5000215/00 | ADAPTER DRIVING BELT JVK: GS43RS 1
60 | P5000210/00 | COVER DRIVING BELT JVK: GS43RS 1
30 | A5000127/02 | HANDWHEEL ELECTRIC MOTOR ADJUSTMENT JVK: GSVEVMTSL 1
20 | P5000209/00 | PLATE LIFT JVK: GS43L0 1
70| P5000231/00 | MAIN FRAME GS43 JVK: GS43HC 7
NO. TITLE NAME DESCRIPTION NOTES QTY
ART.NR. REV. PROJECTIQN [MATERIAL
5000211 07 | =}@®-
TITLE  |FINISH dERHEVIKEH
CHASSIS - GS43
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
1 [item 5118920 changed to S118917. 10.10.2022. pd3 DATE P2115 - Jemeviken - Floor saw
7 Added item no. P5000313. 30.01.2023. pd3 2 Art.nr. changed from A5000192 to R5500070. 16.11.2022. pd3 LAST CHANGE |PALLAG DESIGN [UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
6 Revised: A5000127 22.01.2023. pd4 3 Revised A5000234. 24.11.2022. pd3 DATE 01-Feb-2023 Eg; al’\éDLgrl\llNGESDSME‘;\ICEIgI;\ISGQJ[S;IER&Eg&ﬁ\lggif&i‘(’)@F’\lﬂl\msH
5 Revised R5500070. 18.12.2022. pd4 4 Revised A5000106. 01.12.2022. pd3 STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.

NO.

CHANGE

DATE

DESIGNER

CHANGE

DATE

DESIGNER [SHEET1/11 |SCALE 1:1

SIZE: A3




\ _._._...._._.

THE INFORMATION CONTAINED
IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

2X

APPLY THREAD GLUE
Loctite 243

oo

APPLY THREAD GLUE

Loctite 243

L2
e o
- - -
‘o _ o
. o o
ART.NR. REV. PROJECTIQN
TITLE T [FiNisH dERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET2/11 |SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH JERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET3/11 |SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

2X

ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH JERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET4/11 |SCALE 1:1 SIZE: A3




APPLY THREAD GLUE

Loctite 243
—— APPLY THREAD GLUE
cam— .
= Loctite 243
ARTNR. REV. PROJECTIQN |MATERIAL
TITLE " |FINISH JERHEVIKEH
NOTES: - DESIGNER  |PALLAG DESIGN | PROJECT
TNHEI-::\ISFEOJEXAVCTI\IJCC);\:chxgg"C\;EED DATE P2115 - Jerneviken - Floor saw
PROPERTY OF JERNEVIKEN MASKIN AB LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
OATE 01 Fob2025 | FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-WK,
REPRODUCTION IN PART OR WHOLE FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
WITHOUT THE WRITTEN PERMISSION STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
OF JERNEVIKEN MASKIN AB PROHIBITED. NO. CHANGE DATE DESIGNER |SHEET6/11 [SCALE1:1 |SIzE:A3




4x

THE INFORMATION CONTAINED
IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH JERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET7/11 |SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

~
4x

ART.NR. . PROJECTIQN |MATERIAL
TITLE T [FiNisH dERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT

DATE P2115 - Jerneviken - Floor saw

LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.

FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,

DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH

STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET8/11 |SCALE 1:1 SIZE: A3




APPLY THREAD GLUE
Loctite 243

THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

4x

4x

ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH JERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET9/11 |SCALE 1:1 SIZE: A3




— e o c— -

— e o

¢

0 e ¢ e ¢

¢

\\!

\

ARTNR. REV. PROJECTIQN [MATERIAL
TITLE " |FINISH dERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
;FNHEF::\ISFEOJEXAVCTI\IJZI\:SCg—TEAS"gEED DATE P2115 - Jerneviken - Floor saw
LAST CHANGE PALLAG DESIGN : )
PROPERTY OF JERNEVIKEN MASKIN AB AP P LY TH READ G LU E STC ° 6 ESEESSD%TFT,@V hffciﬁ’,flﬁ'g'53Lgkﬂiﬁﬂgﬁiéﬁ{;g%ﬂfTERs
DATE 01-Feb-2023 y
REPRODUCTION IN PART OR WHOLE . FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
WITHOUT THE WRITTEN PERMISSION LOCtIte 243 STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
OF JERNEVIKEN MASKIN AB PROHIBITED. NO. CHANGE DATE DESIGNER |SHEET 10/ 11 [SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

2X

M

)

ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH dERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET5/11 |SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

FILL UP WITH GREASE AFTER ASSEMBLY.

FILL UP WITH GREASE AFTER ASSEMBLY.

D

==
-l
— -

U

FILL UP WITH GREASE
AFTER ASSEMBLY.

ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH dERHEVIKEH
NOTES: - DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 01-Feb-2023 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER [SHEET 11/11 |SCALE 1:1 SIZE: A3




30 ]S012468/00 |RIVET A 4.8x9.3 BR SDH DIN73378 A | - 4
20 | D5500030/01 JHOOK TOGGLE CLAMP PART OF THE $5500028 2
10 | P5000225/00 | COVER PLATE EXTENSION SAW BLADE | JVK: GS43KSN 1
NO. TITLE NAME DESCRIPTION NOTES QTY

B

THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB REPRODUCTION IN PART OR WHOLE

WITHOUT THE WRITTEN PERMISSION OF JERNEVIKEN MASKIN AB IS PROHIBITED.

ARTAR. REV. PROJECTION | MATERIAL
TITLE " |FNisH dERHEWKEH
NOTES: JVK: GS43KSN DESIGNER  |PALLAG DESIGN | PROJECT
1 | Art. nr. changed from $5500030 to D5500030. 10.10.2022. pd3 DATE P2115 - Jerneviken - Floor saw
LAST CHANGE |PALLAG DESIGN |UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE IS0 2768-MK,
DATE 09-Dec-2022 | £oR WELDING SS-EN ISO 13320-BF, MACHINED SURFACE FINISH
STATUS PB3Released |ACCORDING TO SO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET1/1 |[SCALE1:1 |SIZE:297.0 x 210.0




APPLY THREAD GLUE
Loctite 243

THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

COVER - SAW BLADE

340 | S5500064/00 | RING SEALING - 2.65X12.4MM Essentra nr.: 600644 1
330 | A5000270/03 | HOSE ASSY - 1
320 | P5000229/00 | STICKER JERNEVIKEN GS43 JVK: GS43KMJVGS43 2
Hexagon Socket Button Head
310 | S113690/00 |DIN_7380,M8x10,8.8 Screw, DIN EN ISO NX Standard Part 2
7380-2004,M8x10,8.8
Hexagon Socket Head Cap Screw,
300 | S108540/00 |DIN_4762,M5x10,8.8 DIN EN ISO 4762 (ISO NX Standard Part 2
4762-2004),M5x10,8.8
290 | S012474/00 |NUT M5-DH-DIN 1587 - 2
Prevailing Torque Type Hexagon
280 | S106901/00 |DIN_982,M10,8.8 Nut, DIN 982-1937.M10,8.8 NX Standard Part 1
Hexagon Socket Head Cap Screw,
270 | S108688/00 |DIN_4762,M10x20,8.8 DIN EN ISO 4762 (ISO NX Standard Part 1
4762-2004),M10x20,8.8
260 | S012471/00 |RIVET 4.8x14.5-BLH - 6
Plain Washer, Large, DIN EN ISO
250 | S103433/00 | DIN_EN_DIN_7093-1,M5,8.8 7093-1-2000 M5.8.8 NX Standard Part 8
240 | S012468/00 |RIVET A 4.8x9.3 BR SDH DIN73378 A - 6
230 | S5500029/00 | COUPLER M8 HEX L50 JVK: M6HMMB8X50FZB 1
220 |S012472/00 |RIVET A 4.8x12.8 BR SDH DIN7337 A - 20
200 | S5500028/00 | TOGGLE LATCH WITH PADLOCK HASP JVK: EWEL2030-65-FZB 2
190 | S5500027/00 | CLAMP CTYPE JVK: MAL1504604 2
180 | S5500011/00 | PULL HANDLE L120 JVK: EWWN130E120-M6 | 1
130 | S012433/00 | SCREW ST4.2X19 -K - HH SD - DIN 7504 K |- 2
120 | S012470/00 | SCREW 4x20-HS PH CS - 2
110 | S012469/00 | ANCHOR PLUG 5.5X25 - 2
Hexagon Socket Button Head
100 | S113667/00 | DIN_7380,M6x10,10.9 Screw, DIN EN ISO NX Standard Part 2
7380-2004,M6x10,10.9
80 [|P5000240/02 | COOLING SAW BLADE JVK: GS43VASSV 1
50 |P5000245/00 | EXTENSION COVER BACK JVK: GS43STLB 1
30 |P5000242/00 | DOUBLING COVER EXTENSION SIDE JVK: GS43PGD 2
20 | P5000243/00 | EXTENSION COVER SIDE JVK: GS43SSKS 2
10 | P5000228/00 | MAIN FRAME COVER SAW BLADE JVK: GS43KSS 1
NO. TITLE NAME DESCRIPTION NOTES QTY
ART.NR. REV. PROJECTIQN MAﬁIAL
5000223 02 |=}®-
TITLE " |[FINISH dEHHEVIKEH

NOTES: JVK: GS43KSY

DESIGNER

PALLAG DESIGN

1 New item, R5500064 has been inserted.

13.10.2022.

pd3

DATE

PROJECT

P2115 - Jerneviken - Floor saw

2 | Revised A5000270.

02.12.2022.

pd3

LAST CHANGE

PALLAG DESIGN

DATE

19-Dec-2022

STATUS

PB3Released

UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,

FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.

NO. CHANGE

DATE

DESIGNER

SHEET 1/4

SCALE 1:1

SIZE: A3




THE INFORMATION CONTAINED
IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION
OF JERNEVIKEN MASKIN AB PROHIBITED.

APPLY THREAD GLUE
Loctite 243

ART.NR. REV. PROJECTION |MATERIAL
TITLE FINISH dEHHEWKEH
NOTES: JVK: GS43KSY DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 19-Dec-2022 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released |ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET 2/4 SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH dERHEVIKEH
NOTES: JVK: GS43KSY DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 19-Dec-2022 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released |ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET 3/4 SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

294

[ o

S ERNEVIREN
CS43

[
Z

®
[ J
[ J [ J
\ [ J
ART.NR. REV. PROJECTIQN |MATERIAL
TITLE T [FiNisH dERHEVIKEH
NOTES: JVK: GS43KSY DESIGNER PALLAG DESIGN | PROJECT
DATE P2115 - Jerneviken - Floor saw
LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE ISO 2768-MK,
DATE 19-Dec-2022 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released |ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET4/4 SCALE 1:1 SIZE: A3




THE INFORMATION CONTAINED

IN THIS DRAWING IS THE SOLE
PROPERTY OF JERNEVIKEN MASKIN AB
REPRODUCTION IN PART OR WHOLE
WITHOUT THE WRITTEN PERMISSION

OF JERNEVIKEN MASKIN AB PROHIBITED.

Hexagon Socket Set Screw, Flat Point,
S115808/00 | DIN_4026,B,M6x12,8.8 DIN 913 (1ISO 4026-2003(E)),M6x12,8.8 NX Standard Part 1
Plain Washer, Large, DIN EN I1SO
S103445/00 |DIN_EN_DIN_7093-1,M10,8.8 7093-1-2000,M10.8.8 NX Standard Part 4
Plain Washer, DIN 125 (ISO
80 |S103990/00 |DIN_7091,10,8.8 7091-2000),10.8.8 NX Standard Part 4
Hexagon Head Screw, Grades A and
70 |S111660/00 |DIN_4017,B,M10x40,8.8 B, DIN EN 24017 (ISO NX Standard Part 4
4017-1999),M10x40,8.8
Prevailing Torque Type Hexagon Nut,
60 [S106901/00 |DIN_982,M10,8.8 DIN 982-1987,M10.8.8 NX Standard Part 4
Hexagon Head Screw, Grades A and
50 |S111730/00 |DIN_4017,B,M12x60,12.9 B, DIN EN 24017 (ISO NX Standard Part 1
4017-1999),M12x60,12.9
Hexagon Nut, DIN 934
40 |S106418/00 |DIN_934,M12x1.75,12.9 1987 M12x1.75,12.9 NX Standard Part 1
30 |S5500053/00 | PULLEY SPA 80 4 JVK: GS43A80-4 1
20 |R5500067/01 | MOTOR ELPROM 11 kW AT132M2-B3 1
10 | P5000118/00 | ADAPTER ELECTRIC MOTOR JVK: GS43MP 1
NO. TITLE NAME DESCRIPTION NOTES QTY
ART.NR. REV. PROJECTIQN MAﬁIAL
5000234 02 |=}®-
TITLE T [FiNisH dEHHEVIKEH
SET - ELECTRIC MOTOR GS43
NOTES: JVK: GS43ELM11KW DESIGNER PALLAG DESIGN | PROJECT
1 Changed the item S5500052 to R5500067. 21.10.2022. pd3 DATE P2115 - Jerneviken - Floor saw
2 Revised R5500067. 24.11.2022. pd3 LAST CHANGE [PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIMETERS.
FOR UNDEFINED MACHINING TOLERANCES USE SO 2768-MK,
DATE 18-Dec-2022 FOR WELDING SS-EN ISO 13920-BF, MACHINED SURFACE FINISH
STATUS PB3Released |ACCORDING TO ISO 1302. FOR UNDEFINED GEOMETRY SEE 3D MODEL.
NO. CHANGE DATE DESIGNER |SHEET 1/1 SCALE 1:1 SIZE: A3




2X

20 ] S5500000/02 | QUICK CONNECT COOLING HOSE 1-2 INCH | JVK: BI14014 2
10 | P5000110/02 | HOSE D12.5X18 L1030 1-2 INCH | JVK: GS25VS 1
NO. TITLE NAME DESCRIPTION NOTES QTY
ARTAR. REV. PROJECTION | MATERIAL
5000270 - 03 =}@®-
TITLE " |FINISH JERHEVIKEH
HOSE - ASSY -
NOTES: - DESIGNER | PALLAG DESIGN | PROJECT
THE INFORMATION CONTAINED 1 | The names of the items S5500000 and P5000110 have changed. | 11.10.2022. pd3 DATE P2115-Jerneviken - Floor saw
IN THIS DRAWING IS THE SOLE 2 | Revised hose. 02.12.2022. pd3 LAST CHANGE | PALLAG DESIGN | UNLESS OTHERWISE SPECIFIED: DIMENSIONS ARE IN MILLIVEETERS.
PROPERTY OF JERNEVIKEN MASKIN AB DATE 09-Dac.2002 | FOR UNDEFINED MACHINING TOLERANCES USE IS0 2768-MK,
REPRODUCTION IN PART OR WHOLE FOR WELDING SS-EN IS0 13920-BF, MACHINED SURFACE FINISH
WITHOUT THE WRITTEN PERMISSION STATUS PB3Released | ACCORDING TO ISO 1302 FOR UNDEFINED GEOMETRY SEE 30 MODEL,
OF JERNEVIKEN MASKIN AB PROHIBITED. NO. CHANGE DATE DESIGNER |SHEET 1/1 SIZE: Ad




	GS43
	GS43-1
	GS43-2
	GS43-3
	GS43-4
	GS43-5
	GS43-6

